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Sottrai Decimali

Nome:

Risolvi ogni problema.

1) 60,22-22,57=

2) 33827+5670=

3) 43,4-16,7=

4) 3,699-0,377 =

5) 48290+ 95=

6) 47,8+ 32,328=

7) 72,78-41,7=

8) 57,305+ 17,61 =

9) 47,754-126=

10) 27,8+ 14,595 =

11) 57,7+7,61=

12) 66,22 + 23,967 =

Risposte

10.

11

12.

1-10
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ﬂh Sottrai Decimali

Nome:  Soluzioni
Risolvi ogni problema. Risposte
1) 60,22-22,57 = 37,65
- 1 37,65
2. 39,497
2) 33,827+5,670= 39,497
3. 26,7
3) 43,4-16,7= 26,7 4. 3,322
5, 57,79
4) 3,699-0,377 = 3,322
- 6. 80,128
7. 31,08
5) 48,290+ 9,5= 57,79
8. 74,915
6) 47,8+32328= 80,128 0. 35,154
10. 42,395
7) 72,78-41,7= 31,08
1. 6531
12. 90,187
8) 57,305+ 17,61 = 74,915
9) 47,754-126= 35,154
10) 27,8+14,595= 42,395
11) 57,7+761l= 6531
12) 66,22 + 23,967 = 90,187
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Sottrai Decimali

Nome:

Risolvi ogni problema.

Risposte

42,395 26,7
39,497 31,08
74,915 35,154

37,65
80,128

3,322
57,79 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

60,22 - 22,57 =

33,827 + 5,670 =

43,4 - 16,7 =

3,699 - 0,377 =

48,290 + 9,5 =

47,8 + 32,328 =

72,78 - 41,7 =

57,305+ 17,61 =

47,754 -12,6 =

27,8+ 14,595 =

10.

Semplificato

[M atemati Ca] www.CommonCoreSheets.it

1-10 90|80 70|60 |50]40]30]20[10] O |




	Worksheet
	Soluzioni
	Modified Worksheet

